Classwork – Quadratics Review						Name: _________________________
You will be turning this in at the end of class for a grade. 
[image: Image result for quadratic function]1.  Use the graph to answer the following questions:
Part A:  On what interval is the graph decreasing?

Part B:  What is the vertex?

Part C:  What is the average rate of change from  to ?

__________________________________________________________________________________
2.  Rewrite the function  in vertex form by completing the square.  Find the vertex and the axis of symmetry.

__________________________________________________________________________________
3.  Use the quadratic formula to find the roots (zeros) of the function   .






__________________________________________________________________________________
4.  An object is launched at 24.4 meters per second (m/s) from a 62.1-meter tall platform. The equation for the object's height  at time  seconds after launch is  , where  is in meters. When does the object strike the ground?





[image: Image result for quadratic function]5. What is the domain and range, in inequality notation, of this graph?
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7.  The coordinate plane below shows the graph of
 .  On the same graph, draw the following quadratic functions.  You need to plot a minimum of five points.
a. 


b. 
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Part A:  About how much higher is the second pumpkin than the first at the time of launch?  Show your work or explain your reasoning.





Part B:  What is the difference of the maximum heights of the two pumpkins?  Show your work or explain your reasoning.
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At an autumn festival, two catapults are used to simultaneously launch pumpkins. Let ¢
represent the number of seconds after launch. The graph below shows the height of
the first function as a function of ¢, while the equation shows the height y, in feet, of the
second pumpkin s a function of £
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Part A: About how much higher is the second pumpkin than the first at the time of
launch? Show your work or explain your reasoning.
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The profit a company will make on a video game depends on the price the company
assigns to the game. This graph represents the expected profit the company will make
on a new video game based on the selling price of the game.
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Part A: Explain the difference between what points P and S represent with regard to the
situation represented by the graph.

Part B: What s the average rate of change of f(x) from x=60 to x=90? Show your work
or explain how you found your answer. What does this mean with regard to the
situation described by the graph?

Part C: Based on the information in the graph, what would be the best price for the
company to assign to the video game? Explain how you know.
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